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2A

3H

f = " HREHEA — — — — SR
KR C — — — — —
TV KEME AW mg/0 — — — — Bt EhRn &
KRBT L F N AGRE DO KA mg/0 — — — — 0. 00584 F
R T LROZEDILEY) mg/0 — — — — 0. 0324 F
R OZEDILEY) mg/0 — — — — 0. 1LLF
AR LAY mg/ 0 — — — — 1LLF
Az a2 2MEE) mg/0 — — — — 0.5LLF
UFE R OZEDEY mg/0 — — — — 0. 1BLF
T AEWY mg/0 — — — — LR
KUk 7 2=1 (PCB) mg/0 — — — — 0. 0034 F
[N/ =1 ===t F mg/0 — — — — 0. 1AF
T upxF L mg/0 — — — — 0. 1AF
vsaua AR mg/0 — — — — 0.204°F
W& mg/0 — — — — 0. 02 F
L2-vrampx=H mg/0 — — — — 0. 044
L1-YZupoxFL v mg/0 — — — — 1LLF
VA=, 2=V I L mg/0 — — — — 0.4LLF
,1,1I-RU oo mg/ 0 — — — — RIYEN
LL,2-hV 7oz mg/0 — — — — 0. 06LLF
L3-Yrmruraty mg/0 — — — — 0. 024 F
F T A mg/ 0 — — — — 0.06LLF
v mg/ 0 — — — — 0. 03LLF
FA R B NT mg/0 — — — — 0. 2LLF
SV mg/0 — — — — 0. 1LLF
L ROEOIREY mg/0 — — — — 0. 14F
1, 4= A FH mg/ 0 — — — — 0.5L0LF
FHFEROZEDEY mg/ 0 — — — — 50LLF
5o R OEDILEY mg/ 0 — — — — 1504 F
TUER=T, TR MEEY /0 B B B B 20081 T
HEAEER LA S QIR L& 40
KFEA A PRE ORFEFEED pH — — — — 5.824 k8. 681 F
AW T RIER R EOR & mg/ 0 — — — — 60LLF
bR R 2R = mg/ 0 — — — — 90LLF
BB/ s mg/ 0 — — — — 60LL T
N~ B G A B (BLE) mg/ 0 — — — — 5L
N~ A S A i (B ) mg/0 — — — — 30LLF
7 x ) —VEHEHRE mg/0 — — — — 5LLTF
oA = mg/ 0 — — — — 3T
SN A mg/ 0 — — — — 2BLF
VARG A = mg/ 0 — — — — 10LLF
R~ o T e R mg/0 — — — — 1084 F
Ja NG & mg/0 — — — — 2LLF
RIGHEL CFU/m1 — — — — 800LL T
EROHE mg/0 — — — — 12084 F
e A= mg/0 — — — — 1624
FEREE R ms/m — — — — —
A A A mg/0 — — — — —
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KUk 7 2=1 (PCB) mg/0 — — — — 0. 0034 F
[N/ =1 ===t F mg/0 — — — — 0. 1AF
T upxF L mg/0 — — — — 0. 1AF
vsaua AR mg/0 — — — — 0.204°F
W& mg/0 — — — — 0. 02 F
L2-vrampx=H mg/0 — — — — 0. 044
L1-YZupoxFL v mg/0 — — — — 1LLF
VA=, 2=V I L mg/0 — — — — 0.4LLF
,1,1I-RU oo mg/ 0 — — — — RIYEN
LL,2-hV 7oz mg/0 — — — — 0. 06LLF
L3-Yrmruraty mg/0 — — — — 0. 024 F
F T A mg/ 0 — — — — 0.06LLF
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L ROEOIREY mg/0 — — — — 0. 14F
1, 4= A FH mg/ 0 — — — — 0.5L0LF
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7 x ) —VEHEHRE mg/0 — — — — 5LLTF
oA = mg/ 0 — — — — 3T
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VARG A = mg/ 0 — — — — 10LLF
R~ o T e R mg/0 — — — — 1084 F
Ja NG & mg/0 — — — — 2LLF
RIGHEL CFU/m1 — — — — 800LL T
EROHE mg/0 — — — — 12084 F
e A= mg/0 — — — — 1624
FEREE R ms/m — — — — —
A A A mg/0 — — — — —
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No.

o x w n Leenloee Tone Tone 1o R
VNI C 20.0 22.3 20. 3 23.5 =
TV F LK mg/ 0 — — i — B &Nz &
HaK SR mg/0 — — <0. 00005 — 0. 000524
BRI T A mg/0 — — <0. 0003 — 0.003LLF
on mg/0 — — 0.003 — 0.01LLF
aYiZA=IA mg/0 — — <0. 005 — 0. 0524 F
e mg/0 — — <0. 001 — 0.01LLF
BUT mg/0 — — A — B Shenz &
NUEE 7 ==L mg/0 — — A — B Shenz &
r)ZoaoxzFL mg/0 — — <0. 001 — 0.01LLF
T upxF L mg/0 — — <0. 0005 — 0.01LLF
DZA=2=F 3 V4 mg/0 — — <0. 002 — 0. 02LLF
Wiy E mg/0 — — <0. 0002 — 0. 00284 F
Lo-Yrmux ki mg/0 — — <0. 0004 — 0. 004LL F
L1-YZurxzF L mg/0 — — <0. 002 — 0. 1T
,2-Y/marzFL mg/0 — — <0. 004 — 0. 04LLF
LL,I-RUZmmxH mg/0 — — <0. 0005 — 1A
LL,2-hYZunxzH mg/0 — — <0. 0006 — 0. 00624 T
1,3-Yrunuruay mg/0 — — <0. 0002 — 0. 00224
FUT AN mg/0 — — <0. 0006 — 0. 006LLF
DAV mg/ 0 — — <0. 0003 — 0. 003LLF
FA R IINT mg/0 — — <0. 002 — 0. 02LLF
A mg/0 — — <0. 001 — 0. 01LLF
L mg/0 — — 0.001 — 0.01LLF
1, 4=V F x4 mg/0 — — <0. 005 — 0. 05LL T
JanRTF Ly Hibe=rE ) v—) mg/0 — — <0. 0002 — 0. 0024 F
BRAGEH ms/m 74 84 72 94 —
EAbA 4 mg/0 93 91 85 93 —
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No.

o x w n Leenloee Tone Tone 1o R
VNI C 18.0 21.2 19.8 24.0 =
TV F LK mg/0 — — i — B &Nz &
HaK SR mg/0 — — <0. 00005 — 0. 000524
BRI T A mg/0 — — <0. 0003 — 0.003LLF
o mg/0 — — <0.001 — 0.01LLF
aYiZA=IA mg/0 — — <0. 005 — 0. 0524 F
e mg/0 — — <0. 001 — 0.01LLF
BUT mg/0 — — A — B Shenz &
NUEE 7 ==L mg/0 — — AR — B Shenz &
r)ZoaoxzFL mg/0 — — <0. 001 — 0.01LLF
T upxF L mg/0 — — <0. 0005 — 0.01LLF
DZA=2=F 3 V4 mg/0 — — <0. 002 — 0. 02LLF
Wiy E mg/0 — — <0. 0002 — 0. 00284 F
Lo-Yrmux ki mg/0 — — <0. 0004 — 0. 004LL F
L1-YZurxzF L mg/0 — — <0. 002 — 0. 1LLF
,2-Y/marzFL mg/0 — — <0. 004 — 0. 04LLF
LL,I-RUZmmxH mg/0 — — <0. 0005 — 1A
LL,2-hYZunxzH mg/0 — — <0. 0006 — 0. 00624 T
1,3-Yrunuruay mg/0 — — <0. 0002 — 0. 00224
FUT AN mg/0 — — <0. 0006 — 0. 006LLF
DAV mg/ 0 — — <0. 0003 — 0. 003LLF
FA R IINT mg/0 — — <0. 002 — 0. 02LLF
A mg/0 — — <0. 001 — 0. 01LLF
Ly mg/0 — — <0. 001 — 0.01LAF
1, 4=V F x4 mg/0 — — <0. 005 — 0. 05LL T
JanRTF Ly Hibe=rE ) v—) mg/0 — — <0. 0002 — 0. 0024 F
BRAGEH ms/m 15 15 16 22 —
WA A mg/ 0 6.2 6.3 9.5 7.6 —




TH7EE BET—REEVERLSIGOKERERER

8

A

i

No.

o x w n Leenloee Tone Tone 1o R
VNI C 18.2 18.0 17.1 22.5 —
TV F LK mg/0 — — i — B &Nz &
HaK SR mg/0 — — <0. 00005 — 0. 000524
BRI T A mg/0 — — <0. 0003 — 0.003LLF
o mg/0 — — <0.001 — 0.01LLF
aYiZA=IA mg/0 — — <0. 005 — 0. 0524 F
e mg/0 — — <0. 001 — 0.01LLF
BUT mg/0 — — A — B Shenz &
NUEE 7 ==L mg/0 — — A — B Shenz &
r)ZoaoxzFL mg/0 — — <0. 001 — 0.01LLF
T upxF L mg/0 — — <0. 0005 — 0.01LLF
DZA=2=F 3 V4 mg/0 — — <0. 002 — 0. 02LLF
Wiy E mg/0 — — <0. 0002 — 0. 00284 F
Lo-Yrmux ki mg/0 — — <0. 0004 — 0. 004LL F
L1-YZurxzF L mg/0 — — <0. 002 — 0. 1LLF
,2-Y/marzFL mg/0 — — <0. 004 — 0. 04LLF
LL,I-RUZmmxH mg/0 — — <0. 0005 — 1A
LL,2-hYZunxzH mg/0 — — <0. 0006 — 0. 00624 T
1,3-Yrunuruay mg/0 — — <0. 0002 — 0. 00224
FUT AN mg/0 — — <0. 0006 — 0. 006LLF
DAV mg/ 0 — — <0. 0003 — 0. 003LLF
FA R IINT mg/0 — — <0. 002 — 0. 02LLF
A mg/0 — — <0. 001 — 0. 01LLF
Ly mg/0 — — <0. 001 — 0.01LAF
1, 4=V F x4 mg/0 — — <0. 005 — 0. 05LL T
JanRTF Ly Hibe=rE ) v—) mg/0 — — <0. 0002 — 0. 0024 F
BRAGEH ms/m 28 30 18 27 —
WA A mg/ 0 8.4 8.6 5.8 7.7 —
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No.

o x w n Leenloee Tone Tone 1o R
VNI C 20.5 25.0 23.1 24.5 =
TV F LK mg/0 — — i — B &Nz &
HaK SR mg/0 — — <0. 00005 — 0. 000524
BRI T A mg/0 — — <0. 0003 — 0.003LLF
o mg/0 — — <0.001 — 0.01LLF
aYiZA=IA mg/0 — — <0. 005 — 0. 0524 F
e mg/0 — — <0. 001 — 0.01LLF
BUT mg/0 — — A — M S gz &
NUEE 7 ==L mg/0 — — AR — B S ez &
r)ZoaoxzFL mg/0 — — <0. 001 — 0.01LLF
T upxF L mg/0 — — <0. 0005 — 0.01LLF
DZA=2=F 3 V4 mg/0 — — <0. 002 — 0. 02LLF
Wiy E mg/0 — — <0. 0002 — 0. 00284 F
Lo-Yrmux ki mg/0 — — <0. 0004 — 0. 004LL F
L1-YZurxzF L mg/0 — — <0. 002 — 0. 1LLF
,2-Y/marzFL mg/0 — — <0. 004 — 0. 04LLF
LL,I-RUZmmxH mg/0 — — <0. 0005 — 1A
LL,2-hYZunxzH mg/0 — — <0. 0006 — 0. 00624 T
1,3-Yrunuruay mg/0 — — <0. 0002 — 0. 00224
FUT AN mg/0 — — <0. 0006 — 0. 006LLF
DAV mg/ 0 — — <0. 0003 — 0. 003LLF
FA R IINT mg/0 — — <0. 002 — 0. 02LLF
A mg/0 — — <0. 001 — 0. 01LLF
Ly mg/0 — — <0. 001 — 0.01LAF
1, 4=V F x4 mg/0 — — <0. 005 — 0. 05LL T
JanRTF Ly Hibe=rE ) v—) mg/0 — — <0. 0002 — 0. 0024 F
BRAGEH ms/m 92 38 300 230 —
EAbA 4 mg/0 140 19 1, 600 550 —




